## **2005 Operating Revenue Sources** Table 3

		Local Revenue		State Revenue	
Public Libraries	Population	Total	% of Total Operating Revenue	Total	% of Total Operating Revenue
Over 250,000					
Fort Vancouver Regional Library District	412,460	\$14,644,420	95.36%	\$0	0.00
King County Library System	1,183,855	\$74,774,910	94.36%	\$38,080	0.00
Pierce County Library System	505.535	\$16,317,194	94.02%	\$61,732	0.36
Seattle Public Library	573,000	\$37,087,114	96.42%	\$1,375,387	3.58
Sno-Isle Libraries	618,410	\$26,237,130	98.26%	\$0	0.00
Timberland Regional Library	429,598	\$16,442,371	99.25%	\$0	0.00
Subtotal	3,722,858	\$185,503,139	95.77%	\$1,475,199	0.76
400 004 050 000					
100,001 - 250,000					
Kitsap Regional Library	240,400	\$8,229,837	95.83%	\$0	0.0
Mid-Columbia Library District	187,610	\$4,675,480	95.65%	\$39,601	0.8
North Central Regional Library	227,970	\$7,223,315	96.31%	\$11,221	0.1
Spokane County Library District	232,076	\$6,419,981	94.38%	\$0	0.0
Spokane Public Library	198,700	\$6,409,798	96.31%	\$0	0.0
Tacoma Public Library	198,100	\$10,185,514	96.33%	\$0	0.0
Whatcom County Library System	108,480	\$4,784,860	95.25%	\$0	0.0
Yakima Valley Regional Library	220,595	\$4,489,488	96.31%	\$0	0.0
Subtotal	1,613,931	\$52,418,273	95.84%	\$50,822	0.09
25,001 - 100,000					
Bellingham Public Library	72,320	\$2,871,417	93.51%	\$0	0.0
Everett Public Library	97,500	\$4,046,042	97.52%	\$0	0.0
Longview Public Library	51,995	\$1,950,520	100.00%	\$0	0.0
Mount Vernon City Library	28,210	\$1,007,272	100.00%	\$0	0.0
North Olympic Library System	66,800	\$2,615,220	91.18%	\$0	0.0
Pullman (Neill) Public Library	26,590	\$899,431	100.00%	\$0	0.0
Puyallup Public Library	35,830	\$1,739,384	99.09%	\$0	0.0
Renton Public Library	56,840	\$1,455,200	94.90%	\$0	0.0
Richland Public Library	43,520	\$1,468,934	94.20%	\$0	0.0
Stevens County Rural Library District	32,770	\$1,019,371	95.08%	\$0	0.0
Walla Walla Public Library	30,630	\$846,760	96.88%	\$0	0.0
Subtotal	543,005	\$19,919,551	96.05%	\$0	0.0
5,001 - 25,000					
Anacortes Public Library	15,700	\$766,716	100.00%	\$0	0.0
Asotin County Library	20,900	\$422,775	62.53%	\$0	0.0
Burlington Public Library	7,550	\$308,958	92.22%	\$0	0.0
Camas Public Library	15,460	\$960,251	95.93%	\$0	0.0
Chewelah Public Library	6,865	\$111,604	97.47%	\$0	0.0
Ellensburg Public Library	16,700	\$556,728	91.17%	\$0	0.0
Enumclaw Public Library	11,190	\$476,866	96.04%	\$0	0.0
Grandview (Bleyhl Community) Library	8,705	\$205,562	96.38%	\$0	0.0
Jefferson County Rural Library District	18,855	\$1,063,000	96.72%	\$0	0.0
Kelso Public Library	11,820	\$282,500	91.41%	\$0	0.0
Liberty Lake Municipal Library	5,255	\$310,000	99.34%	\$0	0.0
Pend Oreille County Library District	12,200	\$437,418	92.74%	\$0	0.0
Port Townsend Public Library	8,745	\$653,164	99.24%	\$0	0.0
San Juan Island Library District	7,525	\$739,907	94.07%	\$0	0.0
Sedro-Woolley Public Library	9,800	\$202,074	92.48%	\$0	0.0
Walla Walla County Library District	16,950	\$897,918	94.68%	\$0	0.0
Whitman County Library	15,715	\$567,253	92.05%	\$0	0.0
Subtotal	209,935	\$8,962,694	93.04%	\$0	0.0

## 2005 Operating Revenue Sources Table 3

Public Libraries	Population	Local Revenue		State Revenue	
		Total	% of Total Operating Revenue	Total	% of Total Operating Revenue
5,000 & under w/ certified librarian					
La Conner Regional Library	4,455	\$206,818	96.73%	\$0	0.00%
Lopez Island Library District	2,425	\$277,135	95.13%	\$0	0.00%
Ocean Shores Public Library	4,385	\$260,854	100.00%	\$0	0.00%
Orcas Island Library District	4,915	\$475,749	90.89%	\$0	0.00%
Upper Skagit Library District	4,105	\$156,243	97.98%	\$0	0.00%
Subtotal	20,285	\$1,376,799	95.03%	\$0	0.00%
5,000 & under w/o certified librarian					
Castle Rock Public Library	2,140	\$38,893	93.10%	\$0	0.00%
Cathlamet (Blanche Bradley) Library	550	\$23,768	93.02%	\$0	0.00%
Cle Elum (Carpenter Memorial) Library	1,800	\$45,800	93.85%	\$0	0.00%
Davenport Public Library	1,730	\$11,238	55.14%	\$0	0.00%
Dayton Memorial Library	2,715	\$45,284	73.55%	\$0	0.00%
Harrington Public Library	420	\$8,160	100.00%	\$0	0.00%
Kalama Public Library	1,980	\$25,000	88.16%	\$0	0.00%
Kettle Falls Public Library	1,565	\$21,042	52.56%	\$0	0.00%
Kittitas Public Library	1,135	\$19,193	97.09%	\$0	0.00%
Odessa Public Library	950	\$300	100.00%	\$0	0.00%
Pomeroy (Denny Ashby) Library	1,515	\$33,967	100.00%	\$0	0.00%
Reardan Memorial Library	610	\$5,936	69.84%	\$0	0.00%
Ritzville Public Library	3,550	\$110,000	91.46%	\$0	0.00%
Roslyn Public Library	1,020	\$25,818	94.14%	\$0	0.00%
Roy City Library	865	\$21,797	98.42%	\$0	0.00%
Sprague Public Library	495	\$4,642	92.80%	\$0	0.00%
Waitsburg (Weller) Public Library	1,230	\$11,029	100.00%	\$0	0.00%
Wilbur (Hesseltine) Public Library	895	\$16,700	98.67%	\$0	0.00%
Subtotal	25,165	\$468,567	86.78%	\$0	0.00%
GRAND TOTAL	6,135,179	\$268,649,023	95.69%	\$1,526,021	0.54%

## 2005 Operating Revenue Sources Table 3 (continued)

	Federal Revenue		Other Revenue		
Public Libraries	Total	% of Total Operating Revenue	Total	% of Total Operating Revenue	Total Operating Revenue
Over 250 000					
Over 250,000	<b>4</b>		****		
Fort Vancouver Regional Library District	\$95,723	0.62%	\$616,262	4.01%	\$15,356,40
King County Library System	\$342,684	0.43%	\$4,089,877	5.16%	\$79,245,55
Pierce County Library System	\$5,924	0.03%	\$970,217	5.59%	\$17,355,06
Seattle Public Library	\$0	0.00%	\$0	0.00%	\$38,462,50
Sno-Isle Libraries Timberland Regional Library	\$1,541	0.030/	\$463,496	1.74%	\$26,702,16
, ,	\$5,513 <b>\$451,385</b>	0.03% <b>0.23%</b>	\$117,982 <b>\$6,257,834</b>	0.71% <b>3.23%</b>	\$16,565,86 <b>\$193,687,5</b> 5
Subtotal	\$451,365	0.23%	\$0,257,634	3.23%	\$193,007,33
100,001 - 250,000					
Kitsap Regional Library	\$0	0.00%	\$358,265	4.17%	\$8,588,10
Mid-Columbia Library District	\$3,403	0.07%	\$169,640	3.47%	\$4,888,12
North Central Regional Library	\$2,268	0.03%	\$263,606	3.51%	\$7,500,4
Spokane County Library District	\$0	0.00%	\$382,549	5.62%	\$6,802,53
Spokane Public Library	\$0	0.00%	\$245,741	3.69%	\$6,655,53
Tacoma Public Library	\$0	0.00%	\$387,523	3.67%	\$10,573,03
Whatcom County Library System	\$0	0.00%	\$238,591	4.75%	\$5,023,4
Yakima Valley Regional Library	\$500	0.01%	\$171,676	3.68%	\$4,661,6
Subtotal	\$6,171	0.01%	\$2,217,591	4.05%	\$54,692,85
25,001 - 100,000					
Bellingham Public Library	\$258	*	\$199,071	6.48%	\$3,070,74
Everett Public Library	\$0	0.00%	\$102,915	2.48%	\$4,148,9
Longview Public Library	\$0	0.00%	\$0	0.00%	\$1,950,55
Mount Vernon City Library	\$0	0.00%	\$0	0.00%	\$1,007,2
North Olympic Library System	\$14,511	0.51%	\$238,461	8.31%	\$2,868,19
Pullman (Neill) Public Library	\$0	0.00%	\$0	0.00%	\$899,4
Puyallup Public Library	\$2,000	0.11%	\$14,000	0.80%	\$1,755,3
Renton Public Library	\$0	0.00%	\$78,225	5.10%	\$1,533,4
Richland Public Library	\$660	0.04%	\$89,844	5.76%	\$1,559,4
Stevens County Rural Library District	\$0	0.00%	\$52,783	4.92%	\$1,072,1
Walla Walla Public Library	\$0	0.00%	\$27,240	3.12%	\$874,0
Subtotal	\$17,429	0.08%	\$802,539	3.87%	\$20,739,5
5,001 - 25,000					
Anacortes Public Library	\$0	0.00%	\$0	0.00%	\$766,7
Asotin County Library	\$0	0.00%	\$253,346	37.47%	\$676,1
Burlington Public Library	\$2,493	0.74%	\$23,569	7.04%	\$335,0
Camas Public Library	\$0	0.00%	\$40,702	4.07%	\$1,000,9
Chewelah Public Library	\$0	0.00%	\$2,902	2.53%	\$114,5
Ellensburg Public Library	\$0	0.00%	\$53,937	8.83%	\$610,6
Enumclaw Public Library	\$0	0.00%	\$19,643	3.96%	\$496,5
Grandview (Bleyhl Community) Library	\$0	0.00%	\$7,714	3.62%	\$213,2
Jefferson County Rural Library District	\$0	0.00%	\$36,000	3.28%	\$1,099,0
Kelso Public Library	\$0	0.00%	\$26,545	8.59%	\$309,0
Liberty Lake Municipal Library	\$0	0.00%	\$2,050	0.66%	\$312,0
Pend Oreille County Library District	\$17,352	3.68%	\$16,868	3.58%	\$471,6
Port Townsend Public Library	\$0	0.00%	\$5,000	0.76%	\$658,1
San Juan Island Library District	\$0	0.00%	\$46,614	5.93%	\$786,5
Sedro-Woolley Public Library	\$975	0.45%	\$15,465	7.08%	\$218,5
Walla Walla County Library District	\$0	0.00%	\$50,413	5.32%	\$948,3
Whitman County Library	\$13,303	2.16%	\$35,711	5.79%	\$616,2
Subtotal	\$34,123	0.35%	\$636,479	6.61%	\$9,633,29

## 2005 Operating Revenue Sources Table 3 (continued)

	Federal Revenue		Other Revenue		
Public Libraries	Total	% of Total Operating Revenue	Total	% of Total Operating Revenue	Total Operating Revenue
5,000 & under w/ certified librarian					
La Conner Regional Library	\$0	0.00%	\$7,000	3.27%	\$213,818
Lopez Island Library District	\$0	0.00%	\$14,185	4.87%	\$291,320
Ocean Shores Public Library	\$0	0.00%	\$0	0.00%	\$260,854
Orcas Island Library District	\$161	0.03%	\$47,515	9.08%	\$523,425
Upper Skagit Library District	\$0	0.00%	\$3,216	2.02%	\$159,459
Subtotal	\$161	0.01%	\$71,916	4.96%	\$1,448,876
5,000 & under w/o certified librarian					
Castle Rock Public Library	\$140	0.34%	\$2,744	6.57%	\$41,777
Cathlamet (Blanche Bradley) Library	\$0	0.00%	\$1,783	6.98%	\$25,551
Cle Elum (Carpenter Memorial) Library	\$0	0.00%	\$3,000	6.15%	\$48,800
Davenport Public Library	\$0	0.00%	\$9,143	44.86%	\$20,381
Dayton Memorial Library	\$0	0.00%	\$16,283	26.45%	\$61,567
Harrington Public Library	\$0	0.00%	\$0	0.00%	\$8,160
Kalama Public Library	\$0	0.00%	\$3,356	11.84%	\$28,356
Kettle Falls Public Library	\$7,820	19.53%	\$11,169	27.90%	\$40,031
Kittitas Public Library	\$0	0.00%	\$575	2.91%	\$19,768
Odessa Public Library	\$0	0.00%	\$0	0.00%	\$300
Pomeroy (Denny Ashby) Library	\$0	0.00%	\$0	0.00%	\$33,967
Reardan Memorial Library	\$0	0.00%	\$2,564	30.16%	\$8,500
Ritzville Public Library	\$5,000	4.16%	\$5,271	4.38%	\$120,271
Roslyn Public Library	\$0	0.00%	\$1,607	5.86%	\$27,425
Roy City Library	\$0	0.00%	\$350	1.58%	\$22,147
Sprague Public Library	\$0	0.00%	\$360	7.20%	\$5,002
Waitsburg (Weller) Public Library	\$0	0.00%	\$0	0.00%	\$11,029
Wilbur (Hesseltine) Public Library	\$0	0.00%	\$225	1.33%	\$16,925
Subtotal	\$12,960	2.40%	\$58,430	10.82%	\$539,957
GRAND TOTAL	\$522,229	0.19%	\$10,044,789	3.58%	\$280,742,062

Note: \* represents a positive percentage less than 0.01%